(RN
<

a(6 @) (rad)

=
<
N

103

=

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(B))

1072

0.95L H
107 1

10

2 3
TP, (PCA t%obeamliné[f)

—=— ././CMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

—— DQM_TT__mkFit-DQM_newfastPlus132

aoa, ) (cm)

H
S
o

1072

...............................................

a0 p,/p,)

107} %

10%)

d

Ratio

0.95L

1071

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

o(d d.) (cm)

..................................

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


